

PO No. 4500093961

Date: 09/27/2017 Page 1 of 5

Ship To:

WATER DEPT-ALVARADO LAB 5530 KIOWA DR LA MESA CA 91942-1331 Bill To:

PUD ACCOUNTS PAYABLE 9192 TOPAZ WAY SAN DIEGO CA 92123 Billing Contact: Loraine Lopez

Telephone:

E-Mail:LOPEZL@SANDIEGO.GOV

Vendor: Sterilizer Technical Specialists

4887 Ronson Ct #H

San Diego CA 92111-1814

Terms:

within 30 days Due net

**Delivery Terms:** FOB Destination

Buyer: Vanessa Delgado Telephone: 619-236-6248

**Vendor ID:** 10026788 **Telephone:**858-279-1642 **E-Mail:** sterilizer@sbcglobal.net

E-Mail: CDelgado@sandiego.gov

					ŭ	0 0	
Line#	Serv#	Item ID/Description Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc UoN Conv Factor	/ Exten	ded Price
1	FY18 PM FOR 3	GLASSWARE WASHERS	06/30/2018	12 EA	225.00 EA	USD	2,700.00
	REPLACES PO FROM: 7/1/17-6 DEPARTMENT SEND INVOICE		i.				
***	Item completely	delivered					
2	FY18 PM FOR 3	GLASSWARE STERILIZERS	06/30/2018	12 EA	250.00 EA	USD	3,000.00
***	REPLACES PO FROM: 7/1/17-6 DEPARTMENT SEND INVOICE	5/30/18 CONTACT: DAVID MAGPALI 619-758-2306 S PUD_AccountsPayable@sandiego.gov NUMBER TO SHOW ON ALL INVOICES PLEASE	i.				
3	FY18 PW FOR 1	SV-136S STEAM STERILIZER	06/30/2018	4 EA	270.00 EA	USD	1,080.00
***	REPLACES PO FROM: 7/1/17-6 DEPARTMENT SEND INVOICE	5/30/18 CONTACT: DAVID MAGPALI 619-758-2306 S PUD_AccountsPayable@sandiego.gov NUMBER TO SHOW ON ALL INVOICES PLEASE	i.				
4	FY18 PW FOR 2	GRAVITY SERTILIZERS	06/30/2018	8 EA	250.00 EA	USD	2,000.00
	REPLACES PO FROM: 7/1/17-6 DEPARTMENT SEND INVOICE		i.				
Notes: T	he Terms and Co	onditions of this Purchase Order are available	e at http://sandiego	.gov/purchasing/	SEE LA	ST P	AGE
To ensu	re <u>prom</u> pt pavn	IMPORTANT! nents, PO # must appear on all shipme act person at <i>Bill-To</i> address listed abov	nts and invoices	; all invoices must be	FOR	TOT	AL
directed	to Billing Conta	act person at <i>Bill-10</i> address listed above	/e				



PO No. 4500093961

Date: 09/27/2017

Page 2 of 5

Line#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc U	-/10	nded Price
***	Item completely delivered			ZZIIV I GELOI		
5	FY18 PW FOR 1 ISOTHERMAL STERILIZER	06/30/2018	4 EA	270.00 E	A USD	1,080.00
***	LINE ITEM 6, PW FOR 1 ISOTHERMAL STERILIZER REPLACES PO# 4500086970 FROM: 7/1/17-6/30/18 DEPARTMENT CONTACT: DAVID MAGPALI 619-758-2306 SEND INVOICES PUD_AccountsPayable@sandiego.gov CURRENT PO NUMBER TO SHOW ON ALL INVOICES PLEASE. Item completely delivered					
6	FY18 1 STEAM BOILER AND GENERATOR	06/30/2018	4 EA	100.00 E	A USD	400.00
***	LINE ITEM 7, 1 STEAM BOILER AND GENERATOR REPLACES PO# 4500086970 FROM: 7/1/17-6/30/18 DEPARTMENT CONTACT: DAVID MAGPALI 619-758-2306 SEND INVOICES PUD_AccountsPayable@sandiego.gov CURRENT PO NUMBER TO SHOW ON ALL INVOICES PLEASE. Item completely delivered					
7	FY18 PW FOR 2 GLASSWARE WASHERS	06/30/2018	8 EA	225.00 E	A USD	1,800.00
***	LINE ITEM 8, PW FOR 2 GLASSWARE WASHERS REPLACES PO# 4500086970 FROM: 7/1/17-6/30/18 DEPARTMENT CONTACT: DAVID MAGPALI 619-758-2306 SEND INVOICES PUD_AccountsPayable@sandiego.gov CURRENT PO NUMBER TO SHOW ON ALL INVOICES PLEASE. Item completely delivered					
8	FY18 PW FOR 1 GLASSWARE DRYER	06/30/2018	4 EA	100.00 E	A USD	400.00
***	LINE ITEM 9, PW FOR 1 GLASSWARE DRYER REPLACES PO# 4500086970 FROM: 7/1/17-6/30/18 DEPARTMENT CONTACT: DAVID MAGPALI 619-758-2306 SEND INVOICES PUD_AccountsPayable@sandiego.gov CURRENT PO NUMBER TO SHOW ON ALL INVOICES PLEASE. Item completely delivered					
9	FY18 REPAIR SERVICES REGULAR HRS-ALV	06/30/2018	250 EA	90.00 E.	A USD	22,500.00
***	LINE ITEM 10, REPAIR SERVICE/CITY REGULAR HOURS -ALV REPLACES PO# 4500086970 FROM: 7/1/17-6/30/18 DEPARTMENT CONTACT: DAVID MAGPALI 619-758-2306 SEND INVOICES PUD_AccountsPayable@sandiego.gov CURRENT PO NUMBER TO SHOW ON ALL INVOICES PLEASE. Item completely delivered					
10	FY18 REPAIR SERVICES REGULAR HRS-NTC	06/30/2018	250 EA	90.00 E	A USD	22,500.00
	LINE ITEM 10, REPAIR SERVICE/CITY REGULAR HOURS -NTC					
Notes: Th	he Terms and Conditions of this Purchase Order are available a	at http://sandiego	.gov/purchasing/	SEFI	Δςτ	PAGE
	IMPORTANT!				R TO	
Fa anaur	e prompt payments, PO # must appear on all shipment o Billing Contact person at Bill-To address listed above	e and invoices.	all invoices must be	_	N I U	



PO No. | 4500093961

Date: 09/27/2017

Page 3 of 5

Line#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uom Conv Factor		Extended Price	
***	REPLACES PO# 4500086970 FROM: 7/1/17-6/30/18 DEPARTMENT CONTACT: DAVID MAGPALI 619-758-2306 SEND INVOICES PUD_AccountsPayable@sandiego.gov CURRENT PO NUMBER TO SHOW ON ALL INVOICES PLEAS Item completely delivered	E.					
11	FY18 REPAIR SERVICES NON REGULAR HRS-ALV	06/30/2018	50 EA	135.00	EA	USD	6,750.00
***	LINE ITEM 11, REPAIR SERVICES/NOT CITY REGULAR HOUR REPLACES PO# 4500086970 FROM: 7/1/17-6/30/18  DEPARTMENT CONTACT: DAVID MAGPALI 619-758-2306 SEND INVOICES PUD_AccountsPayable@sandiego.gov CURRENT PO NUMBER TO SHOW ON ALL INVOICES PLEAS Item completely delivered						
12	FY18 REPAIR SERVICES NON REGULAR HRS-NTC	06/30/2018	50 EA	135.00	EA	USD	6,750.00
	LINE ITEM 11, REPAIR SERVICES/NOT CITY REGULAR HOUI REPLACES PO# 4500086970 FROM: 7/1/17-6/30/18 DEPARTMENT CONTACT: DAVID MAGPALI 619-758-2306 SEND INVOICES PUD_AccountsPayable@sandiego.gov CURRENT PO NUMBER TO SHOW ON ALL INVOICES PLEAS	E.	DV4 0045				
	WAGE REQUIREMENTS: PURCHASE ORDERS EXECUTED C  By performing the services detailed in this purchase order, Contri		RY 1, 2015				
	is entering into a contract with the City. Contractor certifies that he or she is aware of the wage provisions described herein and shal with such provisions before commencing services.  A. PREVAILING WAGES. Pursuant to San Diego Municipal Code 22.3019, construction, alteration, demolition, repair and maintenes work performed under this Contract is subject to State prevailing laws. For construction work performed under this Contract cumul exceeding \$25,000 and for alteration, demolition, repair and main work performed under this Contract cumulatively exceeding \$15, contractor and its subcontractors shall comply with State prevailing wage laws including, but not limited to, the requirements listed be This requirement is in addition to the requirement to pay Living W pursuant to San Diego Municipal Code sections 22.4201through Contractor must determine which per diem rate is highest for eac classification of work (i.e. Prevailing Wage Rate or Living Wage Rand pay the highest of the two rates to their employees. Living W applies to workers who are not subject to Prevailing Wage Rates 1. Compliance with Prevailing Wage Requirements. Pursuant to 1720 through 1861 of the California Labor Code, the Contractor a subcontractors shall ensure that all workers who perform work ur Contract are paid not less than the prevailing rate of per diem wadetermined by the Director of the California Department of Indust Relations (DIR). This includes work performed during the design preconstruction phases of construction including, but not limited to inspection and land surveying work.  1.1. Copies of such prevailing rate of per diem wages are on file the City and are available for inspection to any interested party or request. Copies of the prevailing rate of per diem wages also ma found at http://www.dir.ca.gov/OPRL/DPreWageDetermination.ht Contractor and its subcontractors shall post a copy of the prevailinate of per diem wages also ma found at http://www.dir.ca.gov/OPRL/DPreWageDetermination.ht Contractor and its subcontractors s	el comply el section ence wage atively etenance 000, the eg elow. lage 22.4245. eth Rate), lage sections and its eder this ges as rial and eo, ethe ethe ethe ethe ethe ethe ethe eth					
Notes: Th	he Terms and Conditions of this Purchase Order are availab	le at http://sandiego	.gov/purchasing/	SFF	ΙΔ	ST	PAGE
	IMPORTANT!					T01	
o ensure	e prompt payments, PO # must appear on all shipme of Billing Contact person at Bill-To address listed above	ents and invoices;	all invoices must be	1		. •	- 1 <b>-2</b>



PO No. 4500093961

Date: 09/27/2017

Page 4 of 5

ine#	Item ID/Description Serv# Service	Del. Description	Date Quantity/Ord UoM	Unit Price/Prc Uom Conv Factor	Extended Price
	to be paid after the expiration date, then the	•			
	shall be in effect for the life of this Contract. I				
	rate refers to a predetermined wage rate to be	ecome effective upon			
	expiration of the published wage rate and the	predetermined wage rate is			
	on file with the DIR, such predetermined wag	e rate shall become			
	effective on the date following the expiration	date and shall apply to			
	this Contract in the same manner as if it had	•			
	publication. If the predetermined wage rate				
	additional expiration dates with additional pre				
	which expiration dates occur during the life of				
	successive predetermined wage rate shall a				
	date following the expiration date of the prev	_			
	last of such predetermined wage rates expire				
	Contract, such wage rate shall apply to the b				
	Penalties for Violations. Contractor and its				
	comply with California Labor Code section 1				
	paid less than the prevailing wage rate for the				
	the worker is employed. This shall be in addi applicable penalties allowed under Labor Co				
	Payroll Records. Contractor and its subco				
	California Labor Code section 1776, which g				
	accurate payroll records, verifying and certify				
	making them available for inspection. Contra				
	subcontractors to also comply with section 1				
	subcontractors shall submit weekly certified				
	the City's web-based Labor Compliance Pro-				
	for ensuring its subcontractors submit certifie				
	City. Contractor and their subcontractor(s) sh	. ,			
	records specified in Labor Code section 177				
	Commissioner in the manner required in Lab	-			
	4. Apprentices. Contractor and its subcontra				
	California Labor Code sections 1777.5, 1777	.6 and 1777.7 concerning the			
	employment and wages of apprentices. Con-	ractor shall be held			
	responsible for the compliance of their subco	ntractors with sections			
	1777.5, 1777.6 and 1777.7.				
	<ol><li>Working Hours. Contractor and subcontra</li></ol>	ctors shall comply with			
	California Labor Code sections 1810 through	1815, including but not			
	limited to: (i) restrict working hours on public	works contracts to			
	eight hours a day and forty hours a week, un	less all hours worked in			
	excess of 8 hours per day are compensated				
	basic rate of pay; and (ii) specify penalties to				
	professionals and subcontractors of \$25 per				
	the worker works more than 8 hours per day	·			
	violation of California Labor Code sections18	•			
	Required Provisions for Subcontracts. Co.				
	minimum a copy of the following provisions in				
	into with a subcontractor: California Labor Co				
	1775, 1776, 1777.5, 1810, 1813, 1815, 1860				
	7. Labor Code Section 1861 Certification. C				
	California Labor Code section 3700 is require				
	compensation of its employees and by signir				
	certifies that "I am aware of the provisions of California Labor Code which require every e				
	liability for workers' compensation or to unde accordance with the provisions of that code,				
	provisions before commencing the performan	1 7			
	Contract."	ICE OF THE WOLK OF THIS			
	Labor Compliance Program. The City has	its own Labor Compliance			
	Program authorized in August 2011 by the D				
	contract payments when payroll records are				
	inadequate by the City or other governmenta	•			
	established after an investigation by the City				
	entity that underpayment(s) have occurred. F				
	please contact the City of San Diego's Equal				
	Department at 619-236-6000.	situating			
	Contractor and Subcontractor Registratio	n Requirements. This project			
	is subject to compliance monitoring and enfo				
otes: Th	he Terms and Conditions of this Purchase	Order are available at http://	//sandiego.gov/purchasing/		
		SEE LA	ST PAG		
	IMI	PORTANT!		FOR '	TOTAL
				1 01	IOIAL
	e prompt payments PO # must appe	ar on all shipments and	invoices; all invoices must be		



PO No. 4500093961

Date: 09/27/2017

Page 5 of 5

Line#	Serv#	Item ID/Description Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uom Conv Factor	Extended Price
**	contractor or sin a bid propose Public Contract public Work, as currently regist Section 1725.5 is not a violatic submit a bid the Professions Code, provided pursuant to See 9.1 A Contract is not registere a solicitation sl for considering following apply opening; (2) wis subcontractor is specified in Laireplaced by an Code section 4 9.2 A contract violation of Lab cancellation, punlawful, void, body, contractor of section 1725 9.3 By perforn is certifying the on this public with Labor Code.	subcontractor shall not be qualified to bid on, be listed al, subject to the requirements of Section 4104 of the Code, or engage in the performance of any contract defined in this chapter of the Labor Code unless ered and qualified to perform the work pursuant to in a coordance with Labor Code section 1771.1.(a), an of this section for an unregistered contractor to at is authorized by Section 7029.1 of the Business and of the contractor is registered to perform public Contractor in the contractor is registered to perform public work ction 1725.5 at the time the contract is awarded." ctor's inadvertent error in listing a subcontractor who depursuant to Labor Code section 1725.5 in a responsall not be grounds for filing a bid protest or grounds the bid non-responsive provided that any of the contractor is registered and has paid the penalty registration fees or Code section 1725.5; or (3) the subcontractor is other registered contractor pursuant to Public Contractor. In the contract is not public work shall not be or voidable solely due to the failure of the awarding or, or any subcontractor to comply with the requirement of the section.  In the properties of the awarding or, or any subcontractor to comply with the requirement of the section.  In services detailed in this purchase order, Contractor to response to registered with the DIR in compliant le sections 1771.1 and 1725.5, and Contractor shall attion to the City upon request.	et for "[i]t  Ind  Ind  Ind  Ind  Ind  Ind  Ind  In			
Notes: Th	ne Terms and C	onditions of this Purchase Order are available	at http://sandiego	.gov/purchasing/	Line Item Total \$	-,